E f#F x B =
T2 743A31HRHE
(Bfz:F)
7 = LERE AT % R
I. BEDE
1. RBEE
REES 856, 696 530, 501 326,195
AL E 5,090 4,720 370
ESVE 342, 647 A 342,647
REBEESE 861, 786 877, 868 A 16,082
2. EEEE
(1) BEEE
REIGTEI 4TS 1,494, 000 , 296, 000 198, 000
BEEES 1, 494, 000 , 296, 000 198, 000
(2) ZTOMOBETEEE
BEEINAE 16, 440 76, 440 0
B £ 255, 000 255, 000 0
ZTDMDOETEEESE 331, 440 331, 440 0
BEE&ESE 1,825, 440 , 627, 440 198, 000
BESE 2,687, 226 , 905, 308 181,918
I. RECH
1. REBAR
K& 0 0 0
-k 32, 058 31, 482 576
mEBaESE 32,058 31, 482 576
2. EEAE 0
REETEIHE 1,494, 000 , 296, 000 198, 000
BEE&EEE 1,494, 000 , 296, 000 198, 000
aEaE 1,526, 058 , 3217, 482 198, 576
Il. ERREAEDE
IERREAE 1,161, 168 , 177, 826 A 16, 658
BERVIEKBESST 2,687, 226 , 905, 308 181,918
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